N = 0l & At & Ml A

20138 & 20l & LB H NHHSEAMYA ~ HSESEAE A
SN AFSSAYL
M NHEHSEMGL 2
ool H2sS= (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
AHESSAHE A 280,530 280,299 231
AIESEALL 29 212,994 215,151 N2, 157
IEFsE2L 113,179 115,736 N2 ,557
AIHESE2AC 228 2 54,157 60, 167 N6,010
201 LEt2 Y| 40,187 40,187 0
01 AR 22| I 32,747 32,747 0
O1 etx=2H| 32,747
DASA S8 & HAA 18,300
OXNSXNEES 116& x5,00000 x12& 6,960
ONSIUHEEAR(Z,2)
662 x10,0000H x12& 7,920
ONSXHLESHA 114& %2 ,0000H x12& 2,736
OXNSXHLAAMASHM 1143 *5000H*12E 684
>EAMI EH 300, 000& *4CH 33| 3,600
DoOIMEREH EYH,EH
300, 000& *10LH x23] 6,000
DFAXEYH , EY 100, 000& x2CH *6 3] 1,200
> EAEX 20,000 * 118 A x12& 2,640
>oIEI E&AK 22,0003 x4 X *33] 264
DOISIIEE 16,500& x152 *33| 743
02 =294l 7,440 7,440 0
O1 2222 ¥ HMA 7,440
DRERZ 7,440
OSJIRE(XMNEF=NHLAM)
1,7503 x12021 x12& 2,520
OYLBDE(DBUZT AL, ZAMYIA)
2503 *3002H x12& 900
Otts:H 1,500& 4024 x12& 720
OYLRH (MElE 2o DA)
2502 *1,1002H4 x12& 3,300
202 04| 7,920 13,680 N5,760
01 2LHOHI 7,920 13,680 N5,760
OXNHSE gRF=A 660,000& *12& 7,920
405 XHaHF SHI 6,050 6,300 A 250
01 A&t = S F St 6,050 6,300 A 250
OH Hso HC) 5,500, 000& = 1CH 5,500
O Xl Hl H = 2| 300,000& 1 CH 300
O& 3| 50, 000& =5CH 250
aIRol Hel Z& 11,332 9,852 1,480
201 Bt A | 7,952 2,952 5,000
01 AFR2 22l Yl 7,592 2,592 5,000




SN AFSSAYL
M NHEHSEMGL 2
ool Hys=2e CEEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
O1 gBt=Z2H| 7,592
DOIRA 29 Y 22| 216,000& x12& 2,592
D ASA SEJ LU Xt
5,000& *1,0005 5,000
02 =294l 360 360 0
O1222=2 % HA 360
>OIRA PC QY SNHE MHES
30,000& x12& 360
206 M = Hl 2,500 2,500 0
01 M= bl 2,500 2,500 0
ORI NEE HENSSES 22 HO0lA
500& *5, 00000 *13] 2,500
405 XtabF S| 880 4,400 N 3,520
01 AL 2B F SHI 880 4,400 N 3,520
ONMSAHZEAN 150, 000& =14 150
OHolS (8220 dg) 330, 000& = 1JH 330
Oof(geolao M=) 100, 000& *4JH 400
TtEEHR22 10,110 7,950 2,160
201 LEt2 A Y| 7,950 7,950 0
01 At 22l Yl 6,000 6,000 0
O1 Etx=2H| 6,000
D XA HAA 3,600
OFHSH ¥ SEAM AEDXA
60,000& x60E+ A 3,600
DHOIMERH EH,EY
300,000& x4 x23] 2,400
02 332494l 1,950 1,950 0
O1 222=2 % HA 1,950
>DRERZ 1,950
OSIRHE(XYM A2 X))
1,750 *60021 1,050
OYLLB (XYM A2 1X)
2503 *2,400H 600
O LB E (XAl QFHLH) 2503 *1,200H 300
202 048] 2,160 0 2,160
01 2L Y| 2,160 0 2,160
OM=RER =X 180,000& *12& 2,160
HAIRA & 22 37,580 37,767 N 187
201 et A | 26,300 26,487 N 187
02 3524t 26,300 26,487 N 187
O1 222 2 HA 3,600
>DEIR=S 300,000& x12& 3,600




SN AFSSAYL
M JHSEMNEL: 29
ool Hys=2e o E)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
02 A=l 20,700
> 2| 1,331 %274 *8A| 2tx72L 20,700
O3 A& &Hl s Xl 2,000
> &EALAIE & HI S X 2,000,000 x 14! 2,000
307 QI2t0| ™ 11,280 11,280 0
05 QIZtR &2 11,280 11,280 0
OFAN HA 29| 940,000 x12& 11,280
XHEF2 A2t el 99,815 99,415 400
HIIZAH & AEIIH(OIEXH)S=S 2L 83,715 83,715 0
201 et A | 48,115 43,215 4,900
01 At 22l ] 21,510 16,610 4,900
O1 2Btx=2H| 21,510
DEINAA L ALIAH(OIZR)EHA HAA 12,810
O AMNETUHSE A 662 *50,0000H 3,300
OZUUHEAM 66-& *20,0000H 1,320
O UElE XA 752 %10, 0000H 750
[OR==R=W 663 *5,0000H 330
OYAEH IS 66-& *40,0000H 2,640
OAHEIINH SE(HAHS 1203 %20, 0000H 2,400
OHEDIIH SEHAR(Z,8)
66& *20,0000H 1,320
O MEHE MAEEXAM 75& %10, 0000H 750
>EAD,REHISE I 22 300,000& *23] 600
DHOIMEREH EH,EY
300, 000& *x2CH *23] 1,200
DOXNANESH EH,EH, 23
1,000,000& *x23] 2,000
D2AA Y EEI2 oS0t == M &
4,000& 1,225 4,900
02 35294l 26,605 26,605 0
O1 222=2 % HA 19,885
DRERS 19,885
OSIRH (AMNHHEA) 1,750& x3,50021 6,125
O UBILSLHEH(HIIHAHEH)
250& *50,000H 12,500
obBtsEH 1,500 7024 x12& 1,260
O3 A& &HI =X bl 6,720
DASA IXE208 S22
280,000& 12& 3,360
DEAMNE AMAHEZ O S 24|
280,000& ~12& 3,360
206 M = Hl 35,600 40,500 A 4,900




SN HBSEAYL
M IJHSENEL 23
Selr A2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MHZ 8l 35,600 40,500 A 4,900
OgAN2HHAS B H & 1,000& %30,000& 30,000
OO0IEXS XS T HE 7,000& *8000H 5,600
SIREEHNIIYN ¥ REH2HR AHA Hel 16,100 15,700 400
201 Yer2 | 13,700 13,700 0
01 At 22l 3,000 3,000 0
O1 get==2Hl 3,000
DoREE e HAA 3,000
oNYyPAAM 753 %10,0000H 750
ORIuA 75& +10,0000H 750
O MEHZE DRI M 75% *20,0000H 1,500
02 2324l 10,700 10,700 0
O1 3322 € HA 10,700
DRERS 10,700
OSIRH(REER2Y EHARTA)
1,750 *400 24 *32] 2,100
OLBRHE(YREH) 2503 +20,000A4 5,000
OgtERH 1,500 20021 «12& 3,600
202 O4dl 2,400 2,000 400
01 = LH 4 bl 2,400 2,000 400
OzIMER =& 200,000 128 2,400
HE2IZH (ARESEAL L) 67,536 65,148 2,388
ol 2 gl 50,856 48,468 2,388
ol 2AH| 50,856 48,468 2,388
101 @144 Hl 50,856 48,468 2,388
01 2= 50,856 48,468 2,388
OAlZteZ2R2=Y 8,4763 x2021 300 Al 2+ 50,856
JlE3l 16,680 16,680 0
ol =l 16,680 16,680 0
201 -4 8,160 8,160 0
01 At 22l 8,160 8,160 0
O1 Let==EH| 4,800
DEM2I=E2HI 400,000& x12& 4,800
O5 &l 3,360
DOt 522 R 7,000& 200! 23|« 128 3,360
202 O4dl 3,520 3,520 0
01 = LH 4 Hi 3,520 3,520 0
OJl2g R0t 3,520,000 » 14! 3,520
203 Q2 = Y| 5,000 5,000 0
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